June 2018

Agdex 268/821-1

Commercial Microgreens: Business
Concept and Financial Analysis

M icrogreens have been seen as a fast-cycle, high
value crop option both outside and within the
horticulture industry.

As the local culinary industry continues to grow and
adapt its menus to more intricate flavors and complex
plate design, the demand for products like microgreens
increases.

Along with restaurants, the general public is moving
towards a healthier lifestyle making

The concept business set out in this factsheet was
able to pay back its initial investment in approximately
three years.

Concept assumptions

At full production (three crop cycles per month), this
concept business can produce 960 trays of microgreens
per month.

the nutritional aspect of microgreens
popular among consumers.

But what do the financial numbers really
say about microgreen production?

Microgreens as a
business

Microgreens can |
provide both a
healthy alternative
and be Pmﬁmb[g * year-round production (50 weeks)

Some assumptions around this concept
business:

growing facility includes a
processing area, product storage
and office space of at least 2,000
sq.ft (could be a greenhouse, indoor
growing facility or hybrid of both)

¢ soil-less medium-based production
within standard “1020” greenhouse

Outlined in this document is a concept business for
microgreen production. Included are comparison
scenarios in price setting, revenues based on final
product decisions and a general financial forecast.

DISCLAIMER: Further research into your own

market, start-up costs and operational costs must be
conducted on an individual, case-by-case basis. This
factsheet is a theoretical document to be used as
information and cannot be relied on as your personal
business plan.

trays
e vertical farming techniques utilizing racks with 4
levels of growing
e 4 trays per level (16 trays per rack)

Initial investment

The following table provides an example of the
potential investment required to start producing
microgreens on a commercial scale (Table 1).
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Table 1. Start-up expenses for microgreen production

Growing Equipment Cost Qty. Total
Growing facility $60,000 1 $60,000
Racks $150 20 $3,000
Lights (8 per rack) $120 160 $19,200
Watering wand $30 2 $60
Misting nozzles $20 2 $40
'1020' growing trays $2 2000 $4,000
Hoses and valves $110 2 $220
Dehumidifiers $400 1 $400
Ventilation fans $100 4 $400
Heating system $2,000 1 $2,000
Seed storage bins S$12 8 $96

Processing Equipment
Harvesting tools $40 3 $120
Harvesting bins $12 6 $72
Washing bins $12 3 $36
Product driers (spinners) $100 2 $200
Work tables $150 3 $450
Sinks $300 1 $300
Scales $60 2 $120

Product Storage
Fridge $300 1 $300
Walk-in cooler $5,000 1 $5,000
Thermometers $30 2 $60

Office Space
Desks $300 2 $600
Chairs $200 2 $400
Filing cabinet $150 2 $300
Computers $600 2 $1,200
Office materials $200 1 $200

Delivery
Coolers $50 6 $300
Thermometers $30 7 $210
Delivery Vehicle $10,000 1 $10,000

Total $109,284

Operating costs

The calculation and proper management of the costs
of production should become a regular habit to
ensure you are operating a profitable and sustainable
business. To determine your product pricing, all costs
(fixed and variable) need to accounted for and your
profit goals set.

Fixed costs

(expenses that do not change month to month)
Each business will differ in their fixed costs, but these
costs must be accounted for. Because these costs are
for overhead or may be indirect costs to production,
producers may forget about working them into the
final product price.

Here are some examples of fixed costs:

¢ management and sales salaries
¢ insurances (liability, property, crop etc.)

e facility or land costs (mortgages, leases, property
taxes, etc.)

e repair and maintenance costs

e marketing (examples, website and social media
expenses)

e yearly accounting and administrative fees

e debt interest payments

For this concept business, the assumption will be that
the Fixed or Overhead costs account for approximately
$6,000/month to produce the products.

Note: To ensure covering all the fixed overhead costs in
the final product price, a $6.25 amount was added to
the total tray cost within the Cost of Production charts.
This figure was calculated by dividing the total monthly
fixed costs of $6,000 by the maximum output of 960
trays per month. This calculation would mean that for
each tray produced, $6.25 would be allotted to cover
all overhead costs.

Variable costs

(expenses that change month to month)

These costs are typically influenced by the amount of
labour, materials and miscellaneous expenses it takes
to produce the product.

Here are some examples of variable costs:

e seed (cost varies by species)

e planting medium

e planting materials (examples, trays, paper towel,
labels)

e packaging (examples, plastic bags, clamshells)

e labels

e shipping costs

e marketing (examples, price lists, advertising)

e labour (examples, grower, processor, delivery)

e utilities (heat, water, power)

Profit goals

(margin on top of cost of production)

It is important to set profit goals to be in balance with
the local market. Setting goals too high will create a
product price that consumers may not be willing to
pay. In this scenario, a 30 per cent profit margin was
set as the goal.

For further information on setting prices, see the
following Alberta Agriculture factsheets:

e Pricing Horticulture Products, Agdex 845-4
(https://www1.agric.gov.ab.ca/Sdepartment/
deptdocs.nsf/all/agdex918?opendocument)



https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex918?opendocument
https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex918?opendocument

e Essentials of Pricing, Agdex 845-1 (https://www1.
agric.gov.ab.ca/Sdepartment/deptdocs.nsf/all/
agdex1141?opendocument)

¢ Methods to Price Your Products, Agdex 845-2
(https://www1.agric.gov.ab.ca/Sdepartment/
deptdocs.nsf/all/agdex1133?opendocument)

Case scenarios

The four Cost of Production charts appearing on pages
5 through 8 will show a general breakdown of costs
among 10 different crops. The charts will also compare
revenues generated from the same facility, but with

a change in how the final products are packaged and
sold.

Cost of Production charts (on pages 5 to 8)

e Chart 1. Living microgreens as full trays

e Chart 2. Increased pricing on full tray microgreens

e Chart 3. Harvested microgreensin 60 gand 30 g
clamshells

e Chart 4. Increased pricing on harvested
microgreens

Case scenario analysis

The productivity factor within the charts reflects the
importance of accounting for lost products due to crop
failure, damaged products, low sales and so forth.

Pricing

Shown in Chart 1 is a profit margin goal of 30 per
cent on top of the cost of production. However, the
chart also reflects a price set too low, resulting in not
meeting the profit goals with some varieties and even
taking a loss on others.

Chart 2 highlights a price increase from $25 per tray
to $30 per tray. The suggested sales price is based on
the profit goal; however, the final sales price should be
based on the local market and competitor research.
With the price increase, all costs are covered and the
majority of profit goals are being met or close to.

Using broccoli microgreens as an example, take note of
the difference in revenue with only a S5 adjustment.

In Chart 1, broccoli microgreens were only generating
$6,297.60 in annual profit. But with a $5 increase

in the sale price, the broccoli microgreens are now
generating almost double that amount ($12,057.60) in
annual profits.

Be aware of the effect that pricing has on the profits
of your business, but be sure your markets will accept
that pricing.

Final product difference

Chart 3 and 4 focus on harvesting the microgreens and

packaging them into smaller containers for sale. These

charts highlight the additional costs of production, but

also prove that changing the form the product in is sold
in may drastically affect the business profitability.

Broccoli microgreens sold as a tray have an annual
profit of $12,057.60 (Chart 2). However, when
harvested and sold in 60 g packages, the annual profit
for this microgreen increases to $14,361.60 (Chart 3).
This result is positive, but the sale price may potentially
be lower than the market would allow.

Further market research shows that consumers would
allow for an increase of $S2 to the sale cost for the
microgreens (Chart 4). At $10 a package, the broccoli
microgreens now earn an annual profit of $25,881.60.

Utilizing the exact same growing facility, but adjusting
the price and final product form can change annual
profits from $6,297.60 to $25,881.60 with just one
variety of microgreen.

Using the same four charts, compare the basil variety
of microgreens. Often, the seed cost of basil is higher
than most other varieties, but notice how the labour
cost is much greater than all other varieties. This
additional cost is mainly due to the extended crop
cycle, nearly double that of other microgreens. Basil is
also a very tender plant and requires careful handling
and extra time during the harvesting and packaging
processes.

With these extra costs, it may not be worthwhile to
produce a crop of basil microgreens unless the crop
assists in generating increased sales of other, more
profitable varieties. Even with proper pricing to cover
costs, Chart 2 proves that it is best to sell basil as a
full tray, and the producer would still lose -$9,323.52
each year. It may be that basil would be a better high
value crop produced to full maturity instead of as a
microgreen.

Financial forecast

To conclude this concept microgreen business, a very
simple financial outline with a strong focus on paying
off all initial investment debts is provided below (Table 2).


https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex1141?opendocument
https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex1141?opendocument
https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex1141?opendocument
https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex1133?opendocument
https://www1.agric.gov.ab.ca/$department/deptdocs.nsf/all/agdex1133?opendocument

In this ideal concept (which ignores the effect of
working capital changes and inflation for the purposes
of keeping things simple), the two staff of this business
would each make their annual salaries as well as share
the profits of $79,813.02 after the first year.

In this scenario, during the fourth year in business, the
business would be debt free, with the staff making
their full salaries as well as sharing the full profits of
$127,813.02 generated throughout that year.

Although the above is an ideal concept assuming sales
of market value products and a high productivity
factor from the very start, it should still highlight the
importance of proper planning, market research and
cost of production management.

Table 2. Financial outline for concept microgreen operation

Year 1 Year 2 Year 3 Year 4

2 staff full time @ $20/hr

960 trays per month @ $25 each

Revenue per year $288,000.00 $288,000.00 $288,000.00 $288,000.00
Asset Investment -$109,584.00 $0.00 $0.00 $0.00
Operational expenses per year -$227,109.36 -$227,109.36 -$227,109.36 -$227,109.36
Revenue $60,890.64 $60,890.64 $60,890.64 $60,890.64
Asset debt payment ($4000/month) -$48,000.00 -$48,000.00 -$13,584.00 $0.00
Net revenue $12,890.64 $12,890.64 $47,306.64 $60,890.64

Prepared by

Alberta Agriculture and Forestry,
Dustin Morton and Craig Stretch

More information

Alberta Ag-Info Centre
Call toll free 310-FARM (3276)

Website: agriculture.alberta.ca

Aperton

Government



yiuow Jad sAeu3 096 40 INdino winwixew Ag papiAlp yiuow Jad 1503 paxiy 39S 0009S Se PA1e|NJ|ed 3Je SIS0 PEIYIDAQ 4«
1onpoud |euly ay3 jo SuiSeyoed pue ‘uissadoud ‘Sulsarzem ‘Suimous ‘Suinueld ayi sapnjaul JnogeT

22°9189¢S 08'CI9TS 08'0Z¥'1S TTPSS- 7S'€80'STS- 07'S66°TS 00'70L‘8S 88'9VEVS 09°L62°9$ €1'82C'6S SS'8YELS Jeak 1ad yyo0ud
8L'€8TTITS 0T'L8T°LTS 0T'6LELTS TC'¥S88TS 7S'€88'EVS 08'708°SZS 00'960°02$ AN 72743 0%'2052es L8'TLS'6TS SY'TSY'TTS JeaA 1ad s3s0)
TE'S9L'TTS 09'592CS 09'187°CS [AR 7044 96'959°€S 07'0ST'CS L9VLITS 9/'/L€0'CS 0T'SL8TS 66'0€9'TS 79°L8L°TS Yauow Jad s3s0)
00'000'8825 00'008°8¢S 00'0088¢S 00'008‘82S$ 00'008°8¢S 00'008°8¢S 00'008'82$ 00'008‘8¢S 00'008°8¢S 00'008°8¢S 00°008‘82S Jeah 1ad anuanay
00°000vZS 00'00v°CS 00°00%‘CS 00'00¥°CS 00'00¥°CS 00'00v°CS 00°00%‘CS 00'00v°CS 00°00%‘CS 00°00%‘CS 00'00%°CS Yauow 43d anuanay
096 96 96 96 96 96 96 96 96 96 96 Yiuow 13d pasnpoud shesy #
s|ejoL or'TS €TTS S0'0$- 60'€TS- 09'C$ 95'L$ LL'ES L¥'SS 10°'8$ 8€'9$ Aesy sad 3yyoud |e30)
00°'SCS 00°5¢S 00°S¢S 00°'SCS 00°5¢S 00°5¢S 00°'SCS 00°5¢S 00'SCS 00°'STS Aeuy 13d swodu|
00°'STS 00°5¢S 00°5CS 00°'SCS 00°5¢S 00°5¢S 00°'SCS 00°5¢S 00°5¢S 00°SCS 2o1d s3|es 12)4ew |ed132409Y L
89'0€S 06'0€S 95'CES 7S'67S FANTAS 89'7TS 65°£TS 6€'SCS 60'2CS 1Tves 2o1d 3jes paysadsng
%0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ |eo3 uiSsew yjoud
09'€TS LL'ETS S0'SeS 60'8€S ov'zes vy LTS €TTTS €S'6TS 66'9TS 79'8TS Aeuy 1ad s3s00 |eyo )
%06 %06 %S8 %SL %06 %06 %SL %06 %56 %56 103284 ANAINpOId
00T 00T 00T 00T 00T 00T 00T 00T 00T 00T Aexn 1ad pasnpoud syun
SC'9S ST'9S ST'9S ST'9S SC'9S ST'9S SC°9S ST9$ ST9$ ST'9% «xAe13 19d 3500 peaysang
LT°0TS LT°0TS LT°0TS 00'6TS LT'OTS £9°9S £9°9S £9°9S LT°LS LT°8S » Aeay aad unoqeq
01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 0T'0S Aeiy 1ad jaqeq
00'¢S 00'¢S 00'¢S 00'¢S 00°¢S 00'¢S 00'¢S 00°¢S 00°¢S 00'¢S 1500 Aea|
Sv'0$ S0 Sv'0$ Sv'0$ Sv'0$ S'0$ Sv'0$ S¥'0$ S¥'0$ S0 Aesy aad j10s
LTTS wes (44 LL0S 6T'TS €7°0S Sv'0$ TT1's LT'0S TL0S Aeuy sad pass
Aea) Aea) Aea) Aea) Aea) Aea) Aea) Aeay Aeay Aeay ?zis yun

pJeyd ssims 1999 9AIYD dljdeD |iseg a pJaeisniy e|ndniy 11022049 edd Jamojuns

Aoduep

sAeuay [|n} se sudaiSoudiw Sulal] 'T 14eyY)d




yauow Jad sAesy 096 40 Indino wnwixew Ag papiAlp yiuow Jad 1502 paxiy 19S 0009S Se PA1e|NJ|ed 3. SIS0 PEIYIIAQ 4«
10npoud |euly ay1 jo Suiexded pue ‘Suissadoud ‘Bulsarem ‘Suimous ‘Sunnueld ayl sepnjoul Jnoge ,

TTITY'V8S 08'CLE'LS 08'08T°LS 6L'S0L’SS 7S €TEBS 07'SSL‘8S 00797 vIS 88'90T°0TS 09'£50°CTS €1°886'7TS GS'80T'ETS Jead sad youd
8L'€8TTITS 0T'L8T°LTS 0C'6LELTS TC'¥588TS 7G'€88'EVS 08'708°GZS 00'960°02S AN 72474y 0%'2052eS L8'TLS'6TS SY'TSYTTS JeaA 4ad s3s0)
TE'S9LTTS 09'592°CS 09'182°CS (AR 0] 4y 96'999°€S 0v'0STCS L9VL9TS 9L°LE0'TS 0C'SL8'TS 66'0€9'TS 79'L8LTS Yuow Jad s3s0)
00°009°SPES 00'0957€S 00'095V€S 00'0957€S 00'0957€S 00'0957€S 00'095V€S 00'0957€S 00'095V€S 00'095V€S 00'0957€S Jeah 1ad anuanay
00°008°8ZS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS 00'088°CS Yiuow Jad anuanay
096 96 96 96 96 96 96 96 96 96 96 yuow Jad paosnpoud sAeay #
sjejoL ov'9s €7°9S S6'YS 60°85- 09°LS 95°CTS LL'8S LY'OTS TO'ETS 8E'TTS Aeny sad youd |e30)
00'0€S 00'0€S 00'0€S 00'0€S 00'0€S 00'0€$ 00'0€S 00'0€S 00'0€S 00'0€S Aesy sad awoou)
00°0€S 00°0€S 00°0€S 00°0€S$ 00°0€S$ 00°0€$ 00°0€S 00°0€S 00°0€S$ 00°0€S 2o14d s3|es 32)4ew |ed13a409Y L
89'0€S 06'0€S 95°2€S 7S'6vS [ANTAS 89'CCS 6S°LTS 6€'SCS 60'2CS |4 74y 2o1d 3jes paysadsng
%0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ |eos uisiew 3jo.d
09'€TS LL'ETS S0'SCS 60'8€S$ ov'zes LTS €TTCS €5'6TS 66'9TS 79'8TS Aexy 1ad s3500 |e30)L
%06 %06 %58 %SL %06 %06 %SL %06 %56 %56 10328} ANAINpOId
00T 00T 00T 00T 00T 00T 00T 00T 00T 00T Aexy 1ad pasnpoud syun
SC'9S SC'9S ST'9S SC'9S SC'9S ST'9$ S7°9% S2'9% S2'9% 5793 «xAedd 13d 3503 peaysang
LT°0TS LT°0TS LT°0TS 00°'6TS LT'OTS £9°9S £9°9S £9°9S LT°LS LT°8S « Aeay aad unoqeq
01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ 01'0$ Aexy 1ad jaqe
00'S 00'CS 00'CS 00'¢S 00'¢S 00'2S 00'ZS 00'¢S 00'¢S 00'CS 1500 Aeay
S¥'0S S¥'0S Sv'0S SY'0S S¥'0S Sv'0$ S¥'0S Sv'0S S¥'0S Sv'0S Aeuy aad 105
LTTS wes CETS LL'0S 6T'TS €705 Sv'0S 1T°es LT°0$ 2L0S Aen Jad pass
Aea) Aea) Aea) Aea) Aea) Aea) Aea) Aea) Aea) Aea) azis yun

pJey) ssims 1999 9AIYD d1jeD Jiseg a pJeisnip e|nsnuy 11022049 e3d Jamojuns

Aduep

sudasdosdiw Aeay [|ny uo Suidlad paseaudu] g 1ey)d




yruow Jad sAesy 096 40 Indino winwixew Ag papiAlp yiuow Jad 1503 paxiy 39S 0009S Se PA1.INI|.I 3. SIS0 PEIYIIAQ 4 4
1onpoud |euly ay3 jo SuiSeyoed pue ‘uissadoud ‘Sulsarem ‘Suimous ‘Suinueld ayi sapnjaul JnogeT

20'TYL8TS 00'ZSTTS 00'ZST'TS 8S'EV9°0TS 9T'¥9€‘CeS- 09°1TSTS 0T'L0€S- 9T1'9€79$- 09'T9EVTS 6€'67€6S 8€'891'8TS 1eak 1ad yy0ud
6T'EEI'TLES 00'826'V7S 00°02T'SYS  ¥9'0EE'6ES 91'82¢'65S OV ZVEVES 02'SS6°LTS 9T'#88'€€S Ov'8TL'TES T9'V1S'LTS 79'TT9°LTS JeaA 1ad s3s0)
€v'6960€S 00'tvLES 00'09L°€S SSLLT'ES 89'GE6VS L8'T98°CS 09'62€CS 89'€78CS 0C'€V9CS 88'767°TS L6'00€°CS Yuow Jad s3s0)
00°88Z'96€$ 00°080°9%S 00'962'SSS  00'198'9€S 00'%798°9€$  00'%98°9€S 00'8%9°£TS 00'8%9°£TS 00°080°9%$ 00'%98'9€S 00°080°9t$ Jeakh 1ad anuanay
00'720‘€ES 00'078°€S 00'8097S 00'2L0°€S 00'2L0°ES 00'2L0°€S 00'70€CS 00'70€CS 00°0v8°€S 00'2L0€S 00°078°€S Yauow 43d anuanay
7457 08t 9/S ¥8€ ¥8€ ¥8€ 88T 88¢ 08t ¥8€ (0517 Yauow 13d pasnpoud spun #
096 96 96 96 96 96 96 96 96 96 96 yiuow pasnpoud shesy #
s|eloL 00'TS €805 98°€TS T7'6TS- 61°CS LT°0$- TY'SS- LY'TTS 78S €0°9TS Aeanyyyoud jejoy
02°0$ LT°0S 1€CS a8'$- 55°0S 60°0$- 08'TS- 6°'CS €0'CS 1T°€$ Mun Jad youd |eroL
00°07S 00'07S 00°8%S 00'2€S 00'Z€S 00'veS 00'veS 00'0vS 00'2€S 00°07S syun se pjos Aesy 1ad awoduj
00°'8$ 00°8$ 00°'8$ 00°'8S$ 00'8$ 00'8$ 00'8$ 00'8$ 00'8$ 00'8$ 2214d s3jes 1aj4ew |ed2133109Y L
vT'0TS 8T°0TS ov'LS TL°9T$ 69'6S ¢S'0TS SLTTS 9T'LS 9L'LS €79 2o1d 3jes paysadsng
%0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ |eos uisiew 3yo.d
08'LS €8°LS 69°'SS S8°CTS St'LS 608 08'6S 16°SS L6'SS 6L'1S 1502 Jun |ejo}
00'6€$ LT'6€S$ YTYES T7'15$ 18'6¢$ LTYTS 1'6C$ €5°1TS 88°'€TS L6'ETS Aeuy ad s3500 |er0)
%06 %06 %58 %SL %06 %06 %SL %06 %S6 %56 J039ey AjIA1dNpo.d
00'S 00's 009 00'v 00'v 00'€ 00'€ 00'S 00'v 00'S Aeny sad pasnpoud syun
ST9S ST°9$ ST'9$ ST9S ST9S ST'9S 529 S2°9$ S2'9$ ST'9$ «xAesy 1ad 3500 peaysang
8Y'€CS 8v'€TS 78°91$ L6'8TS 789T$ EETS EETS €S 0L'€ETS 0LTTS + Aesy Jad unoqeq
ST'CS ST'CS 85°CS LTS LTS 6C°TS 6C'TS ST'CS LTS ST'TS Aeuy sad 3500 J3uleIU0D JUN
05°'0$ 0S50S 090 0’0 07'0$ 0€°0S 0€°'0$ 0S50S ov'0$ 050 Aexy sad sjaqeq
00°0$ 00°0S 00°0S 00°0S 00'0$ 000 00°0S 00°0$ 00°0S 00°0S 3500 Aeay
S°0$ S°0S Sv'0$ S'0S S'0S Sv'0$ S'0S S'0S S'0S Sv'0$ Aesy sad j10g
LTTS wes [44S LL0S 6T°TS €2°0$ S'0S 11°¢S LT°0S TL08 Aexy sad pass
80¢ 80¢ 30¢€ 80¢ 80¢€ 309 809 309 309 309 azis yun

pJey)d ssims loog 9AIYD dl|Jen |'seg a pJaeisnip m_:msg< 11032049 ead Jamojjung

Aduep

s|1ayswe|d § g€ pue 8 09 ul suaaiSosdiw PaSANIEH °€ 14ey)




Yauow 1ad sAeuy 096 40 Ind1No Wnwixew Ag papiAIp Yiuow Jad 150 paxi) 185 000'9S S PoIB|INJ|EI 3. 51500 PEIYIIAD 4«
10npoud |euly ay3 jo SuiSexded pue ‘Suissadoud ‘Sulsazem ‘Suimous ‘Sunnueld ayl sspndul INogeT

20°€T8'LTTS 00'7L9CTS 00'9L6'7TS 85°65861S 9T'8YT'ETS-  09'LELTTS 08'7099$ ¥8'SL9S 09'188°57$ 6€°595°8TS 8€'886'67S 1eah ad yyoud
86'9VS'L9€S 00'826'7vS 00'PPIvSS T0ee'9es 91°'822'65S OV’ ZrEvES 02'SS6°LTS 9T'788€ES Ov'8TLTES 19'v1SLTS 29'T19°LTS Jeak Jad s3s0)
€1'696°0€S 007 'ES 00'09L°€S SS'LLT'ES 89'GE6VS L8'T98°CS 09'62€ECS 89'€78CS 0T’ €V9'CS 88'C6C'CS L6°00€°CS yauow Jad s1s0)
00°09€'S6VS 00'00925$ 00°021'69S 00'080°9%$ 00°080°9%$ 00'080°9%$ 00°0957€S 00°0957€S 00'00925$ 00'080°9%$ 00°009°LS$ Jeah 1ad anuanay
00°08Z°TYS 00°008VS$ 00°09£°SS 00°0v8°€S 00°0v8°€S 00°0v8°€S 00'088°CS 00'088°CS 00°0087S 00°0v8°€S 00°008‘vS Yuow 43d anuanay
yuow Jad
:144 08t 9.S 8¢ 78€ 8¢ 88T 88¢ 08t 8¢ 08t pasnpoud syun #
Yyiuow pasnpoud
096 96 96 96 96 96 96 96 96 96 96 shey #
s|jejol 00'TTS €8°0TS 98'STS 'ITS- 6T°0TS €L°SS 65°0S Ly'Tes TT9TS €0'92S Aea sod
1joud jezo)
Mun sad
0TS (178 TR 58°T4- 55°Ts 16TS 0z°03 6v'vS E0YS 17'ss wjoud [e3o
s)un se p|os
00'0S$ 00°0S$ 00'09$ 00°0v$ 00°0v$ 00'0€S$ 00'0€S$ 00°0S$ 00°0v$ 00°0S$ Aeuy 1ad awoou
. . . . . - . - . - . . . 2ouid sajes -
00'0TS$ 00°0TS 00'0TS$ 00'0TS 00°0T$ 00'0TS 00'0TS 00'0T$ 00'0T$ 00°0TS 19)JeW [ea33108Y L
vT°0TS 8T'0TS or'LS TL'9TS 69'6S ¢S°0TS SLTTS 9T'LS 9L'LS €2°9$ 221d 3|es paysadsng
%0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ %0€ |eos uisiew yjoid
08'LS €8'LS 69'SS S8°CTS S AAS 60'8S 08'6S 15°SS L6'SS 6L7S 1502 Jiun jejo)
Aeay sad
00'6€$ LT'6ES YT'VES 7' 1SS 18'6C$ LTYTS 7'6CS €5°LTS 88'€TS L6'ETS 51503 |e301
%06 %06 %58 %SL %06 %06 %SL %06 %56 %56 1onel
Aianonpoud
Aeay sad
00°'s 00's 009 00'v 00’ 00°€ 00°€ 00's 00'v 00's paanpoid spun
. . . . . . . . . «sAen sad
sz'98 S7'9¢ S7'98 5793 5z°9% ST'9$ ST'9s ST'9$ ST9% 1500 peayiang
8Y'€TS 8¥'€TS 78'9T$ L6'8TS CEETS CEETS CEETS 0L'E€TS 0L'TTS « Aeay aad anoqeq
. : . . . . . . . Aeuy 1ad 3500
ST'TS ST'TS 85'CS LTS 6CTS 6C'TS ST'TS LTS ST'TS 1BUIe3U03 JuN
0S'0$ 0S'0$ 09'0$ 0v'0$ 0€'0$ 0€'0$ 05°0$ ov'0$ 0S'0$ Aexy sad sjaqe
00°0$ 00°0$ 000$ 00°0S 00°0S 000 00°0S 00°'0S 00°0$ 1500 Aeay
Sv'0$ Sv'0S Sv'0$ Sv'0$ Sv'0$ S'0$ Sv'0$ Sv'0$ S¥'0S Aeuy 1ad j10s
LTS wes (4344 LL'0S €2°0S S'0S 11°2S LT°0S TL0s Aesy 1ad pasg
80¢ 80¢ 80¢ 80€ 809 309 809 309 309 azis yun
pJey) ssims 1999 A1y dl|JeD |Iseg paeisninl e|ngniy 11022049 e3ad Jamojjuns

Aoauep

suaaiSoJoiw pajsaniey uo Supud paseasdu] ‘f uey)




	_GoBack

